Buildup phase

Retreat phase

ice thickness (m)

Centre of loading ‘

(a) (b)

Ice thickness (m)

Peripheral point @

Ice thickness (m)

(c)

Equatorial point A

Ice thickness (m)

3000 o di=tky o dt=5ky | 3000 | ‘ 1 8000f . | |
2000 | o dt=10ky © dt=20ky 1 2000 [ i 1 2000 ! 1
1000 = { 1000t ; {1 1000t : 1
0k . L L L 0 ' 0 4
i i
1000 i ITopogralphy (m)l . 1150 E ‘Topogra‘phy (m) ‘ ‘ i )Topogra‘phy (m)‘ ‘
. ! o di=1ky o dt=5ky 1 -900 | o =
4 o dt=10ky © dt=20ky 1100 ¢ i 1 S o dt=tky © dt=5ky
5001 : 1 10s0! ' o di=tky o di=ky | 950} & | ° di=10ky © dt=20ky
; 5 o dt=10ky © dt=20ky !
o TR . . . 1000 S . ‘ ‘ 1000 R . ‘ ‘
1 Difference in topography (m) 1 Difference in topography (m) 1 Difference in topography (m)
0 1 s , . . : 0 t
—e—(dt=1 ky) - (dt=5 ky) 40 —o—(dt=1 ky) - (dt=5ky) | |
-200 : —e—(dt=1 ky) - (dt=10ky) | —e—(dt=1 ky) - (dt=10 ky) ! o (dt=T ky) - (dt=5 ky)
: —e—(dt=1 ky) - (dt=20 ky) 20 —o—(dt=1 ky) - (dt=20 ky) | —e—(dt=1 ky) - (dt=10 ky)
y 5 —o— (dt=1 ky) - (dt=20 ky) |
-400 ! . . . . e . ! . . , ,
0 20 40 60 80 100 120 0 20 40 60 80 100 120 0 20 40 60 80 100 120
time (ky) time (ky) time (ky)
(d) (e) (f)
Ice thickness (m) Ice thickness (m) Ice thickness (m)
3000 [, ‘ "o dietky o disSky 3000 ' ‘ ‘ ‘ ‘ 1 sooof | ‘ ‘ ‘ ‘ 1
2000 F o di=10ky © dt=20ky 1 2000 f i 41 2000 i 4
. 1 1
10001 b 4 1000 ' 4 1000 ' 1
* ! L
0 T 0 T
Topography (m) 1150 ; ‘Topogra‘phy (m) ‘ ‘ 850 : ‘Topogra‘phy (m) ‘ ‘
o dt=tky o dt=5ky H o dt=tky o dt=5ky L ! o dt=tky o dt=5ky
8 o di=10ky o dt=20ky | 1100 ' o dt=10ky o dt=20ky |  "990% ' o dt=10ky © dt=20ky |
! 1050 ! ] -950 f ! 1
i |
; . . . . 1000 ! o) 1000 -
j Difference in topography (m) i Difference in topography (m) j Difference in topography (m)
. . . . 0 : 10F . . . . 5
200 ! —o—(dt=1 ky) - (dt=5 ky) | . —o— (dt=1 ky) - (dt=5 ky) ! —o— (dt=1 ky) - (dt=5 ky)
—e— (dt=1 ky) - (dt=10 ky) 50 | ! —e— (dt=1 ky) - (dt=10 ky) 1 sl ! —e— (dt=1 ky) - (dt=10 ky) |
100 | —o— (dt=1 ky) - (dt=20 ky) | ! —e— (dt=1 ky) - (dt=20 ky) ! —o— (dt=1 ky) - (dt=20 ky)
0 ! -100 | L L L L ] 0
0 20 40 60 80 100 120 0 20 40 60 80 100 120 0 20 40 60 80 100 120
time (ky) time (ky) time (ky)
Ice profile
4000 [ ‘ ‘ ‘
3000 buildup phase
2000 retreat phase
1000
A
-80 60  -40 -20 0 20 40

latitude (°)



